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DRTEEZ B (NEILHRE) HiEk (-10m) %A

% L] Hg - BIRHE BfL g i = # wm oz
EZAEE 4,057,473
HEE 4,057,473 x 80.4% — 9,681 3, 252, 5217
HEEEE 4,057,473 + 3,252,527 7,310, 000
PE 3T 7,310, 000
HERSHNE 7,310,000 x 10.00% 731,000
HEXBE 7,310,000 + 731,000 8,041, 000




BEANRE HFNTERE =538 (55 AL ) HER (—10m) 52818

£ g - AKTiE B H =2 i & 8 m =

EZHEE 4,057,473
BEFEHE 4,057, 473
FERA=E 4,057, 473
FERA=E 3,889,173
RIS XElE 485, 645
1 B E% R 1.00 381, 5217 381,527

=
2 HEMIERR 2FEZY) 1.00 104,118 104,118

=
KiEH=E 1,503, 196
SEBETRXH 1.00 697, 448 697, 448

=
4 TIILFE—LARE (1) AES 0.21 760, 619 159, 729

km2
5 YIFE—LALE (2) TN 0.91 709, 911 646,019
km2

BR 1,757,132
6 FEEIER 1.00 1,757,132 1,757,132

=
& - e 143, 200
1 BRTRE 1.00 86, 750 86, 750

=l
8 | E 1.00 56, 450 56, 450

=l




BEANRE HFNTERE =538 (55 AL ) HER (—10m) 52818

R R& - WAKSTE BfL - B ' # m o=

EERE 168, 300
B 120, 000
9 EHHEM 1.00 120, 000 120, 000

=
Z 0t 48, 300
10 fETRERE 1.00 48, 300 48, 300

=




Rifiz -/ \v7r—o

BRTEE =t (P ) B (-10m) TR RIE

&5 1
2 BEEERE =1
£ 7 R - BIRTE BARL #H = B Of € W E B &
BlEFEHED
A 2.00 60, 600. 00 121, 200
B S HER
A 3.00 52, 300. 00 156, 900
B = H AR
A 2.00 41,100. 00 82,200
BIEBF
A 0.50 34, 900. 00 17, 450
AR L NOY
% 1.00 377, 750. 00 3,771
= 5 1YE%HeH - 1.00K 381, 527.00 381, 5217
&5 :2
B BMERQEESZY) =1
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
BIEHEE
A 2.00 28, 700. 00 57,400
Sy 2tiE
B 1.50 30, 459. 00 45,688/4. 70H / 8H
AR L NOY
% 1.00 103, 088. 00 1,030
= 5 1YE%HeH - 1.00K 104, 118.00 104,118
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BRTEE =t (P ) B (-10m) TR RIE

%5 :3
B BBETR b 1RXHY
% 5 R - AR R BAf = B {f £ W = &
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
B2 F T HED
A 1.00 60, 600. 00 60, 600
B S HER
A 1.50 52, 300. 00 78, 450
BB
A 1.50 41,100. 00 61, 650
BIEBNF
A 1.00 34, 900. 00 34,900
BIE M FRP D 70PSZE!
B 1.00 85, 750. 00 85, 750 8H
GNSS;BIf 2= & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEERIEE 36~455kHz
B 1.00 339, 900. 00 339, 900
P PR 2EDY
% 1.00 690, 543. 00 6, 905
= 5 1YE%HeH - 1.00K 697, 448. 00 697, 448
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BRTEE =t (P ) B (-10m) TR RIE

E2=
B TILTFE—LARE (1) MK 1YY (0.84km2)
£ 7 R - BIRTE BARL 2 B Of € W E B &

REE S4 kY 2L

B 1.00 3, 553.00 3,553/2.00H / 8H
B FRP D 70PSZE!

B 1.00 85, 750. 00 85, 750 8H
BIEFEHED

A 1.00 60, 600. 00 60, 600
B S HER

A 1.00 52, 300. 00 52,300
B = H AR

A 1.00 41,100. 00 41,100
BIEBF

A 0.50 34, 900. 00 17, 450
GNSS;BIf 2= & DGNSS

B 1.00 25, 740. 00 25,740
TILFE—LEERE 36~455kHz

B 1.00 339, 900. 00 339, 900
AR L NOY

% 2.00 626, 393. 00 12,527
= 5 YEEREN : 0.84km2 760, 619. 00 638, 920
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55
B TILFE—LAE () #H 1TH&HY (0.9km2)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
B 1.00 3,553.00 3,553/2.00H / 8H
B FRP D 70PSZE!
B 1.00 85, 750. 00 85, 750 8H
BIEFEHED
A 1.00 60, 600. 00 60, 600
B S HER
A 1.00 52, 300. 00 52,300
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 0.50 34, 900. 00 17, 450
GNSS;BIf 2= & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEERIEE 36~455kHz
B 1.00 339, 900. 00 339, 900
AR L NOY
% 2.00 626, 393. 00 12,527
= 5 1E%H#EN :0.90km2 709, 911. 00 638, 920
&S :6
B MEEERK 1LY
£ 7 R - BAKTiE By = B Of & | W E B =
BlEFEHED
A 4.70 60, 600. 00 284, 820
B S HER
A 15.70 52, 300. 00 821,110
B = H AR
A 14.20 41,100. 00 583, 620
AR =L NOY
% 4.00 1, 689, 550. 00 67, 582
= 5 1YE%HeH - 1.00K 1,757,132.00 1,757,132
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BRTEE =t (P ) B (-10m) TR RIE

&5 .17
2 . BATHE EED)
£ 7 R - KT By 2 B Of € # B &
BlEFEHED
A 1.00 60, 600. 00 60, 600
B S HER
A 0.50 52, 300. 00 26, 150
= it 1YEZHEH - 1.00[E 86, 750. 00 86, 750
%5 :8
B =RRBE EED)
£ 7 R - KT By 2 B Of € # B =
BIEFEHED
A 0.50 60, 600. 00 30, 300
B S HER
A 0.50 52, 300. 00 26, 150
= it 1YEZHER - 1.00[E 56, 450. 00 56, 450
59
B EBBERR =1
£ 7 R - KT By 2 B Of € # B =
XBRRRE
= 1.00 120, 000. 00 120, 000
= it 1YE%HeH - 1.00K 120, 000. 00 120, 000
H5:10
2% EIEERE =1
£ 7 R - BAKTiE By 2 B Of € # B =
EIXREHRE E-RYIUTRE
I 1.00 48, 300. 00 48, 300
= it 1YE%HeH - 1.00K 48, 300. 00 48, 300




